

# Welcome To ROLEX MONEY



[rolexmoney.live](http://rolexmoney.live)



# About Us

**RolexMoney.live** is a digital earning platform designed around a performance-based reward system. We provide users with structured income opportunities through sales, referrals, and active participation. Our platform focuses on transparency, fairness, and a clear business model that supports consistent growth and long-term engagement.





# Our Mission

Our mission is to create a transparent and ethical digital earning ecosystem where users are rewarded purely on performance, genuine business activity, and compliance with defined rules. We aim to empower individuals by offering reliable and structured income opportunities.

# Our Vision

Our vision is to become a trusted and scalable digital platform recognized for integrity, innovation, and sustainable growth. We strive to build a strong community-driven ecosystem that supports long-term financial development for our users.



# Sign Up Bonus

## One Time 100 RS

**Note:** Every new user receives a ₹100 sign-up bonus, instantly credited to the earning wallet after successful registration and account verification, subject to applicable terms and conditions.





# Rolex Money watch plan

	Rolex Watch	Watch price	Daily Bonus	Period	Total Revenue
	Active Plan	599	20 INR	90 Days	1800 INR
	Rolex series 1	2100 INR	60 INR	90 Days	5400 INR
	Rolex series 2	4900 INR	140 INR	90 Days	12600 INR
	Rolex series 3	14000 INR	400 INR	90 Days	36000 INR
	Rolex series 4	21000 INR	600 INR	90 Days	54000 INR
	Rolex series 5	49000 INR	1400 INR	90 Days	1,26,000 INR
	Rolex series 6	99000 INR	2830 INR	90 Days	2,54,700 INR



# Invitation bonus

S.no	Rolex Watch	Watch price	Invitation bonus
1	Rolex series 1	2100 INR	200 INR
2	Rolex series 2	4900 INR	400 INR
3	Rolex series 3	14000 INR	600 INR
4	Rolex series 4	21000 INR	800 INR
5	Rolex series 5	49000 INR	1000 INR
6	Rolex series 6	99000 INR	1200 INR

Note: Invitation Rolex Money Watch Bonus rewards members with exclusive watch incentives for inviting active users who complete registration and achieve qualifying business targets under company terms and conditions.



# Daily Level ROI Bonus

S.no	Level	Daily Level Roi Bonus
1	1st Level	10%
2	2nd Level	5%
3	3rd Level	2%

Note: Rolex Money Daily Level ROI Bonus rewards active members with daily level-based income calculated on business performance, user activity, and eligibility criteria, subject to plan rules and compliance policies.



# Bonanza offers



- (a)** If you refer 50 member Rolex series 6 in 30 days
- (b)** You are bonanza achiever
- (c)** Bonanza offers Maruti swift car.



# Bonanza offers



Complete 20 Direct  
Referral Rolex  
series 6 in 30 days,  
and earn an iPhone  
17 Pro Max.



# Terms and conditions

## 1. Eligibility

- Any individual above 18 years of age can join the Rolex Money.
- The member must provide correct personal and KYC details.

## 2. Registration

- Registration is complete only after successful account creation and verification.
- One person is allowed only one account. Multiple IDs are strictly prohibited.

## 3. Business Model

- Rolex Money operates as a direct selling / referral-based marketing plan.
- Income is generated through sales, services, or digital products, not merely by recruitment.



# Terms and conditions

## 4. No Guaranteed Income

- Earnings depend on individual effort, sales performance, and team activity.
- Rolex Money does not guarantee fixed or assured income

## 5. Referral & Commission

- Referral income, level income, and bonuses are paid as per the active MLM plan.
- Commission structure may be revised with prior notice.

## 6. Prohibited Activities

- Spamming, misleading promotions, fake promises, or illegal marketing are not allowed.
- Any misuse of brand name, logo, or false commitment may lead to account termination.





Thank You



[rolexmoney.live](http://rolexmoney.live)